11-27.

Initially:

L=0=La

L =Leinéd=[a =lasna

L, =Lxos &= =1, cos o
Thus

tng=22=ltiang
L1
From Eq. (11.102)
@y = foos 6+ W

Since @ =@ cos &, we have

From Eq. (11.131)

2} becomes

; I
Peos -E"=I—3:5.Jn:-:».5|:r
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From (1), we may construct the following triangle

Luna

Iy

from which cos 8=— T
(I +1} tan® &

Substituting into (3) gives
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; =—‘,IJII;' sin® @+1; cos” o
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